A17 (mod 13)

blocks | defect matrix

G: 1 1 13 x 12
2 1 13 x 12
3 1 8 x6
4 0 11051 = X7,¥7
5 0 18201 = X9, P9
6 0 35361 = X10, P10
7 0 43681 = x12, P12
8 0 48621 = X13, P14
9 0 61881 = X16, P16
10 0 64351 = x17, P17
11 0 64352 = X138, P18
12 0 70721 = X19,;¥19
13 0 80081 = Xx20, ¥20
14 0 114401 = X21;¥21
15 0 159121 = X22, P23
16 0 170171 = x23, p25
17 0 194481 = X24,¥26
18 0 247521 = X27, P28
19 0 386751 = X31;¥31
20 0 464101 = X32,¥32
21 0 486201 = X33,¥33
22 0 656371 = X35, P35
23 0 680681 = X36,¥36
24 0 707201 = X37,¥Y37
25 0 742561 = X38,¥38
26 0 850851 = X39,¥39
27 0 875161 = X40, P40
28 0 1166881 = X41, P42
29 0 1166882 = X42, P43
30 0 1215501 = X43, P44
31 0 1237601 = X44, P45
32 0 1237602 = X45; P46
33 0 1299481 = x46, a7
34 0 1299482 = X47, P48
35 0 1361361 = X49, ¥50
36 0 1458601 = X50; P51
37 O 1485121 = X51, P52
38 0 1485122 = X52,¥53
39 0 1555841 = X53; P54
40 0 1591201 = X55; P55




blocks

defect

matrix

41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
o7
o8
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75 ="T4
76
77
8=T7
79
80

SO OO DD OO OO OO OO

1701701 = xs56, 56
1944801 = x57, @59
2042041 = 58, P60
2333761 = 61, P62
2382381 = X62, P63
2431001 = 63, P64
2475201 = Xeo4, P65
2598961 = X5, P66
2722721 = Xe6, P69
2722729 = 67, P70
2722723 = Xes, P71
2722724 = Xe9, P72
2917201 = X0, P73
3182401 = x71, @75
3403401 = x74, P76
3403402 = x75, 77
3465281 = x76, P78
3536001 = x77, P79
3646501 = 78, P80
3889601 = Xx79, P81
4084081 = x31, 82
4331601 = xs2, ¥s4
4667521 = xg3, P85
4862001 = X34, P86
5445441 = 86, P37
5569201 = g7, P89
5834401 = g9, P90
5834402 = x90, Po1
6188001 = Xx92, P92
6188002 = x93, ©93
6806801 = 96, P96
6806802 = 97, Po7
7001281 = 98, P98
7293001 = x99, ©99
7293002 = X100, ¥100
7425601 = X101, P101
7657651 = X103, P102
7657652 = X104, P103
8168161 = X105, P104
8486401 = X106, ¥105




blocks | defect matrix
81 0 8508501 = X107, ¥106
82 0 8910721 = X108, ¥107
83 0 9189181 = X110, Y109
84 0 9529521 = X111, 111
85 0 9724001 = X112, P112
86 0 9724002 = X113, P113
87 0 10210201 = X114, P114
88 0 10501921 = X116, P115
89 0 10829001 = X117, ¥116
90 0 10829002 = X118, Y117
91 0 10890881 = X119, P118
92 0 10890882 = 120, Y119
93 0 10890883 = 121, ¥120
94 0 11138401 = X122, P121
95 0 12994801 = X123, 122
96 0 13260001 = X124, P123
97 0 13366081 = X125, P124
98 0 13613601 = X126, P125
99 0 13613602 = X127, P126
100 0 13613603 = X128, P127
101 0 13613604 = X129, 128
102 0 14294281 = X130, Y129
103 0 14851201 = 132, ¥130
104 0 15912001 = X134, P131
105 0 16336321 = X135, 132
106 0 16336322 = X136, P133
107 0 17017001 = X137, P134
108 0 17017002 = X138, Y135
109 0 17503201 = X139, Y136
110 0 17503202 = X140, P137
111 0 1905904 = X142, P138
112 0 21658001 = X143, Y139
113 0 22555261 = X144, P140
114 0 23629321 = X145, P141
115 0 24310001 = X146, P142
116 0 24365251 = X147, 143
117 = 116 0 24365252 = X148, P144
118 0 24504481 = X149, Y145
119 0 24752001 = X150, Y146
120 0 25525501 = X151, P147




blocks | defect matrix
121 0 25989601 = X152, Y148
122 0 | 27227201 = X153, ©149
123 0 28588561 = X154, ¥150
124 0 35735701 = X155 P151
125 0 36208641 = X156 Y152
Block 1: | o1 w6 w11 P13 P24 Par P20 P41 P49 P61 Per P4
Ii=x1] 1 .
5601 = X6 . 1 .
38081 = X11 1 . 1 .
53551 = X15 1 1 .
209441 = X26 . 1 1 .
333201 = X28 1 . 1
374001 = X30 1 1
1346401 = X48 1 1
1570801 = X54 1 1 .
3272501 = X172 1 . 1
3998401 = X80 1 . 1 .
5236001 = X85 1 . 1
5654881 = Xss 1 1
p1 = 1 w29 = 295133
Y6 = 5601 P41 = 1051271
Y11 = 38071 Qa9 = 1358291
Y13 = 47951 Y61 = 2221231
Y24 = 161491 Yer = 2640111
Yo7 = 212511 Y4 = 3014771



Block 2: | ¢2 @4 @8 @15 22 P31 P58 Pes P88 Pos  L108  P110
161 = X2 1 .
1201 = X4 . 1 .
1700, =ys | 1 . 1
52361 = X14 1 .
204001 = X25 . 1 .
628321 = X34 1 1
2094401 = X60 1 . 1 .
3332001 = Y73 1.1 .
7497001 = X102 1 . 1
9088201 = X109 1 . .
14541121 = X131 1 1 .
15708001 = X133 . 1
18326001 = X141 1 1
Y2 = 161 $58 = 1941561
Y4 = 1201 Y8 = 2720521
g = 16841 Py = 5555441
©15 = b5116, o5 = 636768,
P22 = 152841 $Y108 — 8985681
Y34 = 611481 Y110 — 9340321
Block 3: | o3 5 $30 @57 @83 Poa
M9y=xs| 1 . w3 = 119;
5441 = X5 1 1 s = 4251
357001 = x29 1 . w30 = 35275
2056321 = x59 1 w57 = 170357,
5864321 = x91 1 1 . w3 = 416075,
631125, = You 1 ou = 631125,
6311252 = X95 1
10472001 = X115 1 1




